TIME DISTANCE SPEED & TRAIN BOAT BY ALOK SIR

Amit travelled a certain distance in 2 h and 5 min. He
travelled this distance partly by car and partly by bus.
The speed of the bus is 28 km/h and the speed of the car is
42 km/h. If the distance travelled by car is equal to the

distance travelled by bus, what is the total distance that
He travelled?

(a) 70 km
(b) 25 km
(c) 40 km
(d) 50 km
(e) 35 km
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A girl introduced a boy as the son of the daughter of the
father of her uncle. The boy is related to girl is?

Teh (TSohi Ueh TTSch oh A | SdTd §U chadl & foh 98 TTSehT SHeh STl
o TUaT ol TSRt AT IICT B TSk ohl ST TTSchl U oFIT WFalel &7

(a) Nephew
(b) Uncle
(c) Brother

(d) none

(e) data inadequate
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The ratio between the speed of a bus and train is 15 : 27,
respectively. Also a car covered a distance of 720 km in 9
h. The speed of the bus is three-fourth f the speed of the
car. How much distance will the train cover in 7 h?

(a) 760 km

(b) 756 km

(c) 740 km

(d) Cannot be determined
(e) None of these
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BOQD : ERTG :: ANPC:?
(a) DQSF

(b) FSHU

(c) SHFU

(d) DSQF

(e) None of these
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A bike covers a certain distance at the speed of 64 km/h
in 8 h. If the bike was to cover the same distance is

approximately 6 h, at what approximate speed should
the bike travel?

(a) 80 km/h
(b) 85 km/h
(c) 90 km/h
(d) 75 km/h
(e) 70 km/h
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P's mother is the sister of Q and has a daughter R. How
can P be related to Q from among the following ?

P Rt Hi @ <ht %1 ¢ AT SHeht Ueh (TSehl R & 7 P ohT Q T o1 W<l
&?

(a) Nephew

(b) Uncle

(c) Daughter

(d) Father

(e) none of these
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A man takes 6h 35 min in walking to a certain place and
riding back. He would have taken 2 h less by riding both

ways. What would be the time he would take to walk
both ways?

(a) 4 h 35 min

(b) 8 h 35 min

(¢) 10 h

(d) 8 h 25 min

(e) None of these
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8.
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AFKP : ZUPK : : BGLQ : ?

(a) YUQM

(b) XURO

(c) YXWV

(d) YTOJ

(e) None of these
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The respective ratio between the speed of a car, a train
and abusis 5:9:4. The average speed of the car, the bus
and the train is 72 km/h together. What is the average
speed of the car and the train together?

(a) 82 km/h
(b) 78 km/h
(c) 84 km/h
(d) Cannot be determined

(e) None of the above
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10.

Aman said, "The lady is the wife of the grandson of my
mother. "How is Aman related to the Lady?

3THT 7 gl ohi I AT B | o Uid ohi Tl g1 3THT ohT SH AlgeT §
T T 87

(a) Father

(b) Father in Law
(c) Husband

(d) Grandfather

(e) none of these

# STAY HOME # STAY SAFE By Alok Gupta Sir




TIME DISTANCE SPEED & TRAIN BOAT BY ALOK SIR

11.

A 476 m long moving train crosses a pole in 14 s. The
length of a platform is equal to the distance covered by
the rain in 20 s. A man crosses the same platform in 7 min
and 5 s. What is the speed of the man in m/s?

(a) 1.8 m/s
(b) 1.4 m/s
(c) 1.6 m/s
(d) 2 m/s

(e) 1.2 m/s
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12.

If NOIDA is written as STNIF, how MEERUT can be
written in that code ?

gfe NOIDA & STNIF ferat St § 98 MEERUT &l 39 i€ |
&y fer@r srarm?

(a) QIIVYX

(b) RJJWZV

(c) RJJWZY

(d) RIIVYX

(e) None of these
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13. A 280 m long train moving with an average speed of 108
km/h crosses a platform in 12 s. A man crosses the same
platform in 10 s. What is the speed of the man in m/s?

(a) 5 m/s

(b) 8 m/s

(c) 12 m/s

(d) Cannot be determined

(e) None of the above
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14.

represent M is the maternal grandmother of T.

MTA+BHRIIAATA, BHITUATE NN A - BHTIHA T A, B T WIS
TNA/BHRTHAATE A, BRI U 81 A x BRI HAAA S A, BRI HIAT®

ae e § | R |1 Gy qotiar & TR M, T ht AT 2
(a) M x N/S+T

(b) M x N - S/T

(c) M x S-N/T

(d) M x N x S/T

(e) none of these
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15.

A boat takes 35 min less to travel 28 km downstream
than it takes to travel the same distance upstream. If the
speed of the boat in still water is 14 km/hm, what is the
speed of the stream? (in km/h)

(a) 2.5
(b) 6.5
(c) 2
(d) 9.5
(e) 10.5

# STAY HOME # STAY SAFE By Alok Gupta Sir




TIME DISTANCE SPEED & TRAIN BOAT BY ALOK SIR

16. In a certain code FORGET is Writen as DPPHCU , how
would DOCTON be written in that code?

fedt g 9T ¥ FORGET s DPPHCU femar et & @«
DOCTON &l ¥ feram SAr=rm?

(a) BPAUMO
(b) BPAUPS
(c) EMDRPP
(d) BPARPP
(e) None of these
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17.

The current of a stream runs at the rate of 4 km in an
hour. A boat goes 6 km and comes back to the starting
point in 2 h. The speed of the boat in still water is

(a) 6 km/h

(b) 8 km/h

(c) 7.5 km/h

(d) 6.8 km/h

(e) None of these
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18.

If A is B's Brother, B is C's sister and C is D's father then
how D related to A?

qfe A, BHTHE & B,C Sht &8 3T C, D st fuar g € D, A 1 <=0
e &7

(a) Brother

(b) Sister

(c) Nephew

(d) Data inadequate

(e) none of these
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19. Train A crosses a pole in 33 s and another train B crosses
a pole in 55 s. Length of train A is three-fourth of train B.
What is the respective ratio between the speed of train A
and train B?

(a) 5:11

(b)5:4

(¢)11:3

(d) Cannot be determined

(e) None of these
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20.

In a certain code DECEMBER is written as ERMBCEDE,
in that code which word will be written as ERMBVENO?

feret s 99T ¥ DECEMBER <ot ERMBCEDE ferar Srar & a4
29 9T ERMBVENO Rt oh® ferat s ?

(a) SEPTEMBER
(b) AUGUST

(c) NOVEMBER
(d) OCTOBER
(e) None of these
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